Science 10 Chapter 10 Review Physics

. In constant acceleration the speed is constant

2. A3
B---1
C--2

3. a) the object is not moving

b) the object has a constant speed

c) the object is accelerating

d) the object has a constant speed, the acceleration is zero
)

e) the object has a constant accleration, the objects speed is increasing
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Speed (m/s)

5 a) acceleration from Os to 4s
a=vi-v; =8m/s-0m/s =8m/s 2m/s2
t- t1 4s - Os 4s

b) accceleration from 4s to 10s
the speed is constant at 8m/s so the acceleration is O0m/s 2

c) Total Distance
There are two section to this graph
D=vt =(8m/s)(4s) =32m = 16

2 2 2 .
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